EARAROBREBRT —5 XN—ZXBISH—F 202218138 (A 10E#6tE4E

ISR —fx C3— BRI

[xE%] 1 & :900,000H  23&:351,000 M  33#&:225,000 ™ . 43%&:135,000H . 53&:99,000 3

BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS

1 2 SALYAILFI 7L 4t 7 ggizﬁz 1(3_7)9 1-1-1-1 [39.7| - 1 (4:327) éggﬁﬁ(%ﬁ)
RPAINIPFF— BOREI VRS A b AZRET1—T7—L4

28l Fvn—7502 B4 %ﬁﬁmm 1:(33%.5 4-5-4-3 | 40.0| - 3 (4_463) J%%I%— ((Z5)
R:/ITTUZS BRF4ISUR #"HBI7—LA

5 g o5 | AR 1:38.5 5-4-5-4 | 40.0 | — 5 524 | FIFFIERE (RGHE)

3/5(5 | NRTLAR 56.5 8) (o) | BHE
R:ZAD4TRALY S BTFAIVRAS— RIS

417]8|FFoTAR—o 7 %{Igﬁ 1:(32%.9 3-3-3-2 (406 - | 2 (4_834) ﬁ(gﬁﬁ “J(ﬁg#f)
R:oA Lik—L B:=x)LNO-X Bl EE

5 3| NIBYTL— 5 5¥§?S 1:(319).1 9-10-9-9 |39.6| - 6 (4+662) %gii G
RVIR—~ BiEYPAYRN ohft  JHBR

618110 S ZAES yF— B 4 giﬁsﬁ)\ 1:(339).7 11-11-11-10| 40.0 | — 7 (4_415; g%g*—u (1)
RJYTURN BNAVILITALT RiEi5

711111 77—h3wv2a # 5 ﬁf%%ﬁ (11410/2(; 8-9-10-11 |40.5| — | 9 122)7 %giﬂémmﬁ)
R bE—X3—F— B:HRX/AA—Lwv b thlgis

8 2| =7y ra- # 8 | EEA 1(;;2‘.)1 6-66-6 |41.5| — | 4 (4683; ggfg% g(%‘#ﬁ)
RiO—UILPLA0 8:7ITTIva%A K Y ms s

9 6| SSA~NIYAY i 9 Elflgx 1(:34/04.)3 10-8-8-8 [41.3| — | 1 (4_523) g%g; Grarl)
R:TSvIIAR B:Yau—v YA9ITT7—L1L

100l 4| D vy—2 o7 g:;&gnﬁi (12410/2% 7-7-7-7 |41.9| - 8 z:g;) g%g (et®)
RIARN—EVIR—L B:FUTTvh Lerihe)

1171 9 FUXZ 4 9 _g;;aﬁ 1(;14/02.)9 2-2-2-5 |42.6| — 10 (4322) gﬁﬂé Z(ﬁ’u‘ff%)
R:F4=TANA B Id79+—Fx F—U— - Iv I\ - T7—LBRR

® 11— —&BIEfI

13—7— 2,9,8,11,5,7,4,1,3,6,10

20—F— 2,9,8,5,11,7,4,6,1,3,10

30—7F— 2,9,8,11,5,7,4,6,3,1,10

40— — 2,8,11,5,9,7.4,6,3,10.1

0 ILRE

B s 2 140 | | 94 R 2-11 360 e B 2-8 590 3EE 2-5-11 2,860

BB 2 110/ 2-5 390 B 2-8 880M 3EE 2-11-5 6,750M

1 1909 5-1 1,370 Fs E 2-11 900
5 230 =51 2-11 1,240

ABIC OV TRUTEREERRODDZE. THRIIZEL.



